Directions:

1. Place below the number of items each person bought

2. Check the QR code to see if you are correct
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l 4 apples 1 pineapple 2 oranges 3 peaches 6 bananas
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Question

Carol bought 2 bags of Apples and one bag of oranges.

Tim bought the same number of oranges as Carol and he
also bought a bag of peaches.

Billy bought 1 bag of apples, and one bag of peaches, and 1 bag
of pineapple.

Penny bought 2 bags of oranges and one bag of bananas.

How many pieces of fruit did each person buy?

Carol Tim Billy Penny

Total = otal =

How much fruit over all did they all buy?




